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A Suggestion 
 
Let ( )G: S1  be defined through →\ P
 
    ( ) ( )( ){ }  G : S1:   y=exp 2x x y t i tπ∀ ∈ = ∈ ∃ ∈ ⋅
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We define a map { }D: → ∪ ∞+\ `  through 

 
     ( ) ( )( )  D : # Gx x∀ ∈ =\ x
    D is a determinant for rational numbers 
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R is a bunch of Spheres 
 
We define a map [ [φ  through : 0;1→ ×\ ]
 

     ( )
[ ] [ ]

[ ] [ ]

;          t>=0

 φ :

;      t<=0

t t t
g g

t t
t t t
g g

 −  ∀ ∈ = 
  − − + −  

\

     [ ]  is the Gaussian floor function
g
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Than the following is true: 
 
    ( ) ( )  φ +φ1 2t t t∀ ∈ =\ t  

 

We define a map Φ →  through 1: S×\ ]
 

    ( ) ( ) ( )( )( )  : φ ;exp 2 φ1 2t t t i∀ ∈ Φ = ⋅\ π t  

 
Then the following is true: 
 

     is a bijection 1: SΦ → ×\ ]
 

Because  is a commutative group, you get a new map 
 with the properties 

1S×]
→ \: ×: \ \

 
    ( );  is a commutative group\ :  

    ( ) ( );  is a subgroup of ;_ : \ :  
 
Perhaps it was a good idea to look at a map [ [φ  : 0;1→ ×� \ ]
 

     ( ) [ ] [ ] φ : ;t t t t t
g g

 ∀ ∈ = − 
 

�\
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Tunneling 
 
We define a map λ  through : →\ ]\ ^
 

    ( ) ( )( ) ( )  λ : exp 2 φ 2φ2 1t t i t∀ ∈ = ⋅ +� �\ ] π\ t
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We define a set Λ ⊆  through ^
 

     ( )1: S z
z

Λ =
∈
∪
]

    S  ( )1 2  is the unity sphere with center 2z z
 
Than the following is true: 
 
     is a bijection λ: → Λ\ ]\
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